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301 97631 tdnr-qp A4 uu urnr-rfr 2500 15.0 6

ab4[\rur{nFqPbf uu hruur 100 2.0 20
30192121

30197232 Uptuqtu\utP uu hruur 100 1.0 10

301921 35 Uuurfru, qpru$frurhr{r2 nt\n{ UTI urnr.rfr 100 1.0 10

uu hunn 350 1.4 4
301927 10 U nulrh&, prlplt, uuttlutpurlarlPp

30199500 Uur{tupuPnrrlP UU hunn 250 1.0 4

301 97321 q.upftt UU hurtn 500 1.5 3

30192720 abub2fy uu hunn 200 10 5

30197632 Snr-hurlnp Pnlrlfd UU urntrlr 2500 5.0 2

30L92760 unl'l UU hunn 200 1.0 5

100 1.0 10
30192100 fthurllt UU hurur

30t9723t $tu1L ulr urnr-rfr 1500 1.5 1

30L99430 L2nrtfbhpfr PntrlP UU hutn 300 1.5 5

3924L2L0 U\puut uu hurut 500 2.0 4

30192750 SlniluruuhP uu urnr-rlr 500 3.5 7

22815000 Shtnp UU hurur 40 2.Q 50

30192000 Qnrtu2 uu nnr-rlr 4000 8.0 2

i s0192130 Qnttrurlnp druurfnnhbP UU rnnr-rfr 500 3.0 6

39221120 trrudu\ UU hurur 250 2.0 8

39224210 '{,p&plt
UTI hurur 300 3.0 10

urnr-rlr 500 3.0 6
301 92000 Qnuhbnh UU

UtI r,nnr-rfr 1 200 9.6 I
391621 10 O r-u n r-ilhu h ruh PrunurhF

uu 4purri 1 00000 100.0 1

391621 10 Or-unr-rfhu\uh h1nr-PhP

hurur 250 2.5 10
3983124 Odurn uu
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3951 3200 bp\2hpnutr&bnngf\Lbp UU l.rlnL+ 250 7.5 30

29212000 On2[r rlurpphlnr- 1up UU hurtn 500 3.5 7

3951 4200 unpftr UU hurur 500 2.0 4

19642000 'tI n $hpf lhbtul f lt qur Fll uu hurur 100 3.0 30

39224341 Uttputn\n uu hruur 1000 4.0 4

398321 00 Urhuh l{urhur1nt hhrlnr\ uu hunn 600 3.0 5

33761 000 9nr-qrupuhlt fat.ttto ulr hunn 200 2.Q 10

3971 1230 rablh[\ uu hunn 7000 7.0 1

39221130 trudu\ LTII huru 300 6.0 20

39221 120 tunhuhngtulfrh uquup uu 4pulri 7000 7.0 1

19260000 Uhrpubf urfrnng uu hunn 2500 2.5 1

38651200 Shuurgpfr2, qpnlh\unp UU hunn 450000 450.0 1
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6531 0000 htrhpqhrnf \ brunrul n tp.; nr-h UU 4Iruni 500000 500.0 1

651 1 1000 \ nrlnr-hur 1 bur nurl nr-p3 nth uu +puril 100000 100.0 1

50313200 'Ilutndhhurhurhnrl uupphpI qurhu UU 4Funl 20000 20.0 1
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